Edexcel Business Year 1		Activity Worksheets
Name: ________________________________ 	 
2.5.2 Legislation
1. Which one of the following terms is linked to consumer protection?
a. Safe working environment
b. Limit monopoly power
c. Reduce CO2 emissions
d. Fit for purpose
Explanation: 
________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________

2. Which two of the following are reasons why consumers need protection?
· To stop monopolies charging higher prices
· To ensure a safe working environment
· To support fair trade
· To avoid exploitation by powerful businesses

3. State three ways that employment legislation protects employees:
· ____________________________________________
· ____________________________________________
· ____________________________________________

4. Which two of the following are reasons why a competition policy may stop a merger from going ahead?
· To stop a business suffering diseconomies of scale
· To protect shareholders’ investment
· To prohibit abnormal profits achieved through customer exploitation
· To avoid natural monopolies
· To encourage competition in an industry used by all of society

5. What does HASAWA stand for?
· H____________________
· A____________________
· S____________________
· A____________________
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